Send your answers to the teacher via his e-mail :
abdelkader.nouibat@univ-msila.dz

Homework (5): Read the text and answer the questions that follow:

The eighteenth century Scottish economist Adam Smith advocated the technical division of
labour. This principle depends upon the advantages that come from specialization of workers
in specific operations of the productive process. In other words, work is shared out among the
workers; each is responsible for a part of the job and all workers dependent on each other for
the end product.

Question (1): Give the meaning of the following words verbs and in English (5 points)
Advocate:

Advantage:

Specialization:

Operation: /.
Product:

Question 2: Give the past and past participle of the following Verbs (5 points)

Verb Past Past Participle

Depend

Come

Share

Advocate

Is//are XXXXXXXXXXXXXXX

Question 3: Translate the text into Arabic (5 points)




Question 4: Write a ONE PAGE essay on the importance of specialization of workers in
increasing productivity: (5 points).

Note: Use the Internet for your references; key words to search for are specialization,
workers, and productivity.
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